[image: image2.jpg]


4


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


B10SDM
BMW S1000RR 2015-

	Kit for left side:
	Kit for right side:

	
	
	
	
	
	
	
	
	
	

	ID
	Description
	Cat.no
	Qty
	
	ID
	Description
	Cat.no
	Qty
	

	2
	Dural. bracket
	537/B
	1
	
	2
	Dural. bracket
	537/B
	1
	

	3
	Bolts M6x20
	1024
	2
	
	3
	Bolt M6x20
	1024
	2
	

	4
	Dural.adapter
	1131
	1
	
	4
	Dural.adapter
	1132
	1
	

	5
	Bolt M10x120
	881
	1
	
	5
	Bolt M10x85
	981
	1
	

	6
	washer M10 - spring
	801
	1
	
	6
	washer M10 - spring
	801
	1
	

	7
	washer M6
	1023
	2
	
	7
	washer M6
	1023
	2
	


Instruction to assembly-left side :
1. Dismantle original bolt from frame.
2. The washer ID.6 put on the botl ID.5.
3. This bolt insert into the steel bracket ID.2 and dural.adapter ID.4

4. This set mount on the frame.
5. Use bolts ID.3 and washer ID.7 and fix the slider on the bracket.
Instruction to assembly-right side :
1. Dismantle original bolt from frame.

2. The washer ID.6 put on the botl ID.5.

3. This bolt insert into the steel bracket ID.2 and dural.adapter ID.4

4. This set mount on the frame.

5. Use bolts ID.3 and washer ID.7 and fix the slider on the bracket.
Warning- the threads of the screws is recommended to use glue of medium strength (blue).
[image: image3.jpg]


[image: image1.jpg]



[image: image4.png]




1

